Purchase Order

Order Number: TFSCPL/PO/23-24/000161 Supplier Code: RV232415979 [V0000162]

Supplier Detail	Shipped Location	Invoice Location	Corporate Address
Best Enterprises	Chennai INT TERMINAL	Chennai INT TERMINAL	TRAVEL FOOD SERVICES CHENNAI PRIVATE LIMITED
No :15 Meenakshi Street ,Maduravoyal ,,India Order Address Code :	GROUND FLOOR, SECOND FLOOR, THIRD FLOOR AND CITY SIDE, ANNA INTERNATIONAL TERMINAL, CHENNAI AIRPORT, TIRUSULAM, Chennai, Tamil Nadu,600027	Ground Floor, Second Floor, Third Floor And City Side, Anna International Terminal, Chennai Airport, Tirusulam, Chennai, Tamil Nadu,600027	1St Floor, Block A South Wing, Shiv Sagar Estate, Dr. Annie Besant Road, Worli, Mumbai Suburban, Maharashtra, 400018 Comp GST No : 33AAECT8192M1ZS
PAN No : ARQPA9341R Supplier GST No : 33ARQPA9341R1Z6 Supplier Contact No : Contact Person Name : ELUMALAI ASHOKKUMAR Supplier Email : bestenter2016@Gmail.com	Cost Center Code : 90295005 Cost Center Name : CHN Good Times Bar T4 Dom Project ID : PO Category : Capex NSO	Payment Term: 30% along with work order RA BILL - Up to 95% afer work completion & Submission of invoice. Retention 5% DLP till completion of 6 months	PO Creation Date : 08/03/2024 PO Approval Date : 12/03/2024 PO Currency : INR Buyer Name : Mrunal Joshi

Sr. No	Item Code	HSN / SAC	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	SGST %	CGST %	Gross Total Amount
1		995428	Civil Work	Civil Work	B01	1.00	NOS	206,960.00	0.00	206,960.00	206,960.00	9	9	244,212.80
2		441872	Carpentary	Carpentary	B01	1.00	NOS	1,360,530.00	0.00	1,360,530.00	1,360,530.00	6	6	1,523,793.60
3		970110	Painting work	Painting work	B01	1.00	NOS	4,250.00	0.00	4,250.00	4,250.00	6	6	4,760.00

Total Qty: 3.00

Grand Total PO Amount	1,772,766.40
CGST Amount	100,513.20
SGST Amount	100,513.20
Total Other Charges	
Total Basic PO Amount	1,571,740.00

Amount In Words: Rupees Seventeen Lakh Seventy Two Thousand Seven Hundred Sixty Six And Fourty Paisa Only

Remarks:.

Standard Terms And Condition: Completion / Delivery TimeLine:

Mobilization Date:

Defects Liability Period: 6 **Retention Percentage:** 5

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Pramod Singh	9801387143					
Pramod Singh	9801387143					

Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode :

ItemName : Civil Work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1	I	CIVIL WORKS			0.00	0.00	0.00
2	1	Board Out			0.00	0.00	0.00
3	1	Providing and fixing flex board out. Cost to include framework cost, opening for door, flex printing and installation. (digital file provided by client) Sizes as mentioned below.			0.00	0.00	0.00
4	i	39 Feet - Length X 10 Feet - Ht	Sq Ft		390.00	185.00	72,150.00
5	2	Construction of Walls			0.00	0.00	0.00
6	1	P C of 100mm thick brick wall (red clay brick) having ht. 862 mm in CM 1 4 proportion, including scaffolding, ranking out the joints, cutting, providing fixing of 12mm thick MS rod for the each one meter height of the wall, lintel work for the doors windows opening, seven days water treatment to the walls, etc. complete as per site engineer s instruction. (non-veg. counter)	Sq Ft		0.00	0.00	0.00
7	3	Plaster Works			0.00	0.00	0.00
8	1	P A of single coat backing plaster of 15 18 mm thick in CM 14 proportion to the walls others surface including scaffolding, curing the joints, etc. The rates are inclusive of providing chicken mesh of 18mm gauge 150mm width at junction of brick RCC etc. at the walls, columns, beams etc., seven days water treatment as anti crack of plaster. Complete as per site engineer s instruction.	Sq Ft		0.00	0.00	0.00
9	4	Flooring			0.00	0.00	0.00
10	4.1	Tile flooring			0.00	0.00	0.00
11		P F flooring including laying of 38 45 mm thick cement sand mortar bed in 1 4 proportions below the flooring, finishing of joints with added color pigments. Rate should be included with sand, cement, spacer, grouting etc. all raw materials to lay the tiles up to the mark. Complete in proper line level as per architectural drawing site engineer s instruction(Flooring pattern as per design). (basic cost- Rs. 230 sft)	Sq Ft		0.00	0.00	0.00
12	4.2	P F 4mm thk.S.S. Inlay inserts within flooring as per pattern given between the existing proposed printed tile	R Ft		35.00	280.00	9,800.00
13	4.3	Providing Fixing approved brand, pattern, and shade Vinyl flooring, it should be fixed with an approved adhesive as per the manufacturer s specifications.vinyl flooring in the internal area of the outlet as per approved DWG. in coirdination with site inc. (basic cost- Rs. 130 sft) Warranty The product should have a minimum 5-year warranty on material.	Sq Ft		177.00	310.00	54,870.00
14	5	Dado-			0.00	0.00	0.00
15	5.1	P F of Black subway tiles of 100mm x 200mm (at bar, ledge counter) upto 912 mm height fixing with Tiles Adhesive Chemical, including finishing of joints in white cement with added matching color pigments, etc, making cut out provisions for all related services such as electrical switch board, plumbing sanitary ware fittings, etc as required on site. Complete in proper line level as per architectural detail drawing site engineer s instruction. (basic rate-Rs.250 sft)	Sq Ft		112.00	355.00	39,760.00

16	P F of Approved Dado tiles of 300mm x 300mm upto 900 mm height fixing with Tiles Adhesive Chemical, including finishing of joints in white cement with added matching color pigments, etc, making cut out provisions for all related services such as electrical switch board, plumbing sanitary ware fittings, etc as required on site. Complete in proper line level as per architectural detail drawing site engineer s instruction. (basic rate- Rs.250 sft)	Sq Ft		98.00	310.00	30,380.00
			Total :	812.00		206,960.00

ItemCode :

ItemName : Carpentary

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
17	II	CARPENTARY WORKS			0.00	0.00	0.00
18	1	Bar - Counters			0.00	0.00	0.00
19	1.1	* Providing and fixing 150 mm thk. counter top made in 19mm thk. Ply, finished in approved black corian from top Front. Internal MS framing to be done in 3 X 3 MS section heavy guage. With both side 19 mm FR rated ply panelling. Internal side to be 0.8 mm approved laminate finish. Strips to be fixed on front edge of counter top. External Finishing will be Subway black tile. Item is considered in civil work.	Rft		32.00	4,650.00	148,800.00
20	1.2	* 150 mm high S.S.strip skirting with 4mm groove	Rft		50.00	460.00	23,000.00
21	1.3	* Making of front woodenposts as per approved detail dwg to be finished in melamine matte polish - Size 10 X 10 X 9	Nos		3.00	15,000.00	45,000.00
22	1.4	* Making of back woodenposts as per approved detail dwg $$ to be finished in melamine matte polish - Size 10 $$ X 10 $$ X 9	Nos		3.00	15,000.00	45,000.00
23	1.5	* Bulkhead Box Panelling above counter having 900mm height to be made in MS framing of 2.5 X 2.5 MS sections heavy guage. Panelling to be done with 19 mm 1 Hr Fire rated ply finished in approved laminate finish.Complete as per architectural detail drawings site engineer s instruction.	Sq Ft		128.00	1,050.00	134,400.00
24	1.6	* Internal ceiling Panelling above counter to be made in MS framing of 1.5 X 1.5 MS sections heavy guage. Panelling to be done with 12 mm 1 Hr Fire rated ply finished in approved laminate finish.Complete as per architectural detail drawings site engineer s instruction.	Sq Ft		150.00	1,050.00	157,500.00
25	1.7	* Internal ceiling side Panelling above counter to be made in MS framing of 1 X 1 MS sections heavy guage. Panelling to be done with 12 mm 1 Hr Fire rated ply finished in approved laminate finish.Complete as per architectural detail drawings site engineer s instruction.	Sq Ft		48.00	960.00	46,080.00
26	1.8	* Necessary provision to be done for electrical cut-out light fixtures	Nos		20.00	150.00	3,000.00
27		* Size Length- 7154 mm, counter depth- 400mm, height- 1200mm			0.00	0.00	0.00
28		(Laminate- Rs.80 Sft)			0.00	0.00	0.00
29		(Black subway tile- Rs.250 Sft)			0.00	0.00	0.00
30		(Veneer- Rs.120 Sft)			0.00	0.00	0.00
31		(Corian- Rs.400 Sft)			0.00	0.00	0.00
32	2	Planter Pebble box Shelf			0.00	0.00	0.00

33	2.1	* Providing and fixing 25mm thk. planter box made in ply finished in app. veneer with 4mm groove as per design		0.00	0.00	0.00
34		* Earthen pots to be stacked on each other in box		0.00	0.00	0.00
35	i	490mm x 650mm x 38 mm thk. having Ht. 750mm	No	0.00	0.00	0.00
36	ii	675mm x296mm x 38 mm thk. having Ht. 750mm	No	0.00	0.00	0.00
37	2.2	* Providing and fixing 25mm thk shelf made in ply finished in app. Laminate finish with 4mm groove as per design.	No	4.00	8,000.00	32,000.00
38		(Laminate- Rs.80 Sft)		0.00	0.00	0.00
39		(Veneer- Rs.120 Sft)		0.00	0.00	0.00
40	3	Internal Cabinet Work		0.00	0.00	0.00
41		POS COUNTER WITH STORAGE BELOW		0.00	0.00	0.00
42	3.1	* Making Fixing Internal Cabinet in 19 mm approved 1 hr fire rated ply with approved laminate finsh externally. Internal laminate to be finished in 0.8 mm off white laminate.Cabinet top to be finished in Approved black granite. Need Shutters with Intermediate Shelfs with wooden cash drawer. Fittings to be included such as handels, Hinges, drawers telescopic channels etc. Hardware brand such as Haffle, Hettic or equivalalnt. Cabinet work to be Complete as per architectural detail drawings site engineer s instruction. Size - 1200 x 675 x 900 CLEAR INSIDE AFFL.(After Finish floor level)	Nos	1.00	80,000.00	80,000.00
43		FRONT COUNTER (BEER MACHINE COUNTER)		0.00	0.00	0.00
44	3.2	* Making Fixing Internal Cabinet in 18 mm approved 1 hr fire rated ply with approved laminate finsh externally. Internal laminate to be finished in 0.8 mm off white laminate. Cabinet top to be finished in Approved black granite. Need Shutters with Intermediate Shelfs with wooden drawer. Fittings to be included such as handels, Hinges, drawers telescopic channels etc. Hardware brand such as Haffle, Hettic or equivalalnt. Cabinet work to be Complete as per architectural detail drawings site engineer s instruction. Size - 2390 x 675 x 900 CLEAR INSIDE AFFL.	Nos	1.00	120,000.00	120,000.00
45		* Necessary provision to be done for electrical cut-out light fixtures.		0.00	0.00	0.00
46		BOXING WITH DOOR IN FRONT FOR Co2Cylinde		0.00	0.00	0.00
47	3.3	* Making Fixing Internal Cabinet in 18 mm approved 1 hr fire rated ply with approved laminate finsh externally. Internal laminate to be finished in 0.8 mm off white laminate.Cabinet top to be finished in Approved black corian. Fittings to be included such as handels, Hinges etc. Hardware brand such as Haffle, Hettic or equivalaInt. Cabinet work to be Complete as per architectural detail drawings site engineer s instruction. Size - 350 x 625 x 1600Ht.	Nos	1.00	70,000.00	70,000.00
48		BACK COUNTER WITH SINK STORAGE		0.00	0.00	0.00
49	3.0	* Making Fixing Internal Cabinet in 18 mm approved 1 hr fire rated ply with approved laminate finsh externally. Internal laminate to be finished in 0.8 mm off white laminate.Cabinet top to be finished in Approved black granite. Need Shutters with Intermediate Shelfs. Fittings to be included such as handels, Hinges etc. Hardware brand such as Haffle, Hettic or equivalalnt. Back counter with clear 925 mm internal space for equipment. 2 Shutters for storage. space for 2 Nos of chillers 1 Nos of Sunk in sink. Cabinet work to be Complete as per architectural detail drawings site engineer s instruction. Size - 3737 x 625 x 925Ht. CLEAR INSIDE AFFL.	Nos	1.00	150,000.00	150,000.00

50	4	Bar Entry Doors			0.00	0.00
51		Providing and fixing 50mm thk. Door made in ply boxing with (25mm x 50mm) aluminium framework @ equal distance, finished in app. Laminate from inside External finish in black subway tile as per design. Including of hardwares fittings of approved brand similar to hettic haffle or equivlant.			0.00	0.00
52	İ	(Size 750mm X 1050mm) (@ Bar)	No	1	00 8,500.00	8,500.00
53		(Laminate- Rs.80 Sft)		(00 0.00	0.00
54	5	BAR Foot rail			0.00	0.00
55	i	* Providing and fixing S.S. foot rail of 150mm high 40mm dia. with necessary base plates caps etc as approved	R Ft	32	00 1,650.00	52,800.00
56	6	Screens		(0.00	0.00
57	İ	Window screen		(0.00	0.00
58		* Providing and fixing (75mm x 75mm) wooden main framework (vertical horizontal memmbers) to be finished in melamine matte polish with necessary connectors from airport glass façade as per design	No		0.00	0.00
59		Option - P F (50mm x 50mm) M.S. box section main framework to be finished in charcoal mine epoxy paint, with necessary connectors from airport glass façade, with (75mm x 75mm) wooden secondary frame work on which dummy windows to be fixed	No		0.00	0.00
60		Option - P F (50mm x 50mm) M.S. box section main framework to be finished in charcoal mine epoxy paint, with necessary connectors from airport glass façade, with (50mm x 50mm) M.S. angle secondary framework on which dummy windows to be fixed	No		0.00	0.00
61		* Dummy windows having various sizes finished in distressed wood paint with stained, clear, frosted, ribbed glass to be fixed on main framing as per design			0.00	0.00
62		* Necessary provision to be done for electrical cut-out light fixtures			0.00	0.00
63		* Windows to be made on site			0.00	0.00
64		* M.S to be supported from ceiling floor wall as per detail with necessary M.S support frame with aluminium section			0.00	0.00
65		* M.S to be duly coated with red oxide prior works.			0.00	0.00
66		* All welds to be neat welds with counter sunk screws slots whereever necessary		(0.00	0.00
67		* Linear lights to be fixed on dummy windows as per design		(00 0.00	0.00
68		* Size- 9980mm x 6925mm		(0.00	0.00
69		(Veneer- Rs.120 Sft)			0.00	0.00
70	7	Dry Partition Full Ht Back Side		(0.00	0.00
71	7.1	* Providing and fixing 120 mm thk dry partition Full height, back side, with internal aluminium framing of 2 x 2. Heavy guage. Both side bison panelling of 12 mm Thick. Back side to be approved paint finish front side to be finished in approved antique mirror panelling. From FFL to 1050 mm will be approved laminate finish from 1050mm - 2400 mm will be finished in antique mirror panelling. Size - 15 -10 X 10 (Ht)	Sq Ft	128	1,200.00	153,600.00
72		Dry Partition Ceiling to bar counter top Left Right Side			0.00	0.00

	•	·	•	Total :	637.00		1,360,530.00
81	9.5	Providing Placing, Bar Stools - Same which is used in existing martini bar - Red colours	No		5.00	6,500.00	32,500.00
80	9.4	Providing Placing, Bar Stools - Same which is used in existing martini bar - Blacks colours	No		5.00	6,500.00	32,500.00
79	9.3	MS Clamping of Co2 cylinder.	No		1.00	350.00	350.00
78	9.2	Providing of 20 Ltr Fresh water jar waste water jar for sink	No		2.00	3,000.00	6,000.00
77	9.1	Providing Fixing of 0.5 HP water pump for sink tap.	No		1.00	2,500.00	2,500.00
76	9	Miscellaneous Items			0.00	0.00	0.00
75	8.1	* Providing and fixing ledge counter 50 mm thick made with internal aluminium framing with heavy guage and both side 1 Hr FR rated ply panelling. Counter Top to be finished in Approved black corian. Counter bottom to be finished in approved laminte shade. Ledge to be fixed with supporting MS legs in approved shade powder coated finish. Complete as per architectural detail drawings site engineer s instruction. Size - 2 X 2 X 2 -6 Size - 10 X 2 x 3.5	Rft		0.00	0.00	0.00
74	8	Ledge Counter			0.00	0.00	0.00
73	7.2	* Providing and fixing 75mm -100 mm thk dry partition both left right side of the counters, with internal aluminium framing of 1.5 x 1.5 . Heavy guage. Both side FR rated ply panelling of 12 mm Thick in approved laminate finish. Size - 2 -6 X 4 (3 - 4 thick)	Sq Ft		20.00	850.00	17,000.00

ItemCode :

ItemName : Painting work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
82	III	P.O.P WORKS AND FALSE CEILING			0.00	0.00	0.00
83	1	Gypsum panelling			0.00	0.00	0.00
84		Gypsum panelling 12 mm thick - Of approved brand - Saint gobin or equivlant	Sq Ft		0.00	0.00	0.00
85		to existing wall surfaces to achieve smooth surface			0.00	0.00	0.00
86		in true level and plumb complete as directed.			0.00	0.00	0.00
87		include cost for making grooves up to 12mm thick if required in horizontal or vertical direction for walls and near doors, windows, skirting.			0.00	0.00	0.00
88	2	False Ceiling			0.00	0.00	0.00